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Note : Attempt all questions.

3o 1 FHIF 1 TEQEY TF g1 THH q49 G@UE g- gue (), U (F) UF GUe

()| GUE (1) § agiased @ T, g () § It gy A= v gve (7) § =

TATAT 00 I o HATed T°7 2| TAF @€ H 5 T g TAT TAF T 92 1 3 sfrafeq
I

?nstruction : (A) Question No. 1 is an objective type question. It has three parts-

Part (A), Part (B) and Part (C). Part (A) has Multiple choice type questions, Part

(B) has Match the following and Part (C) has Fill in the blanks. Each part has 5
questions. Each question carries 1 mark.

T.1 (@Ue-37) Tl fasheq Faae forfem: (1x5=5)
(Part — A) Choose and write the correct option:

1. T I T ST 9 S=IRT 9T 31 82
(1) = SqfH (@) FT A (7) 3737 97 (3) 7 g

Which type of land is most suitable for industries?

(a) Forest land (b) Agricultural land (c) Orchard land (d) Barren land

2. BMI T I 91 &

(37) (ST A2 (F) Treod alel YoH~e (F) q(ST T Trelhe (T) qIST ATA
e

BMI stands for :

(a) Body Measurement (b) Index Body Measurement (c) Body Mass Indicator (d)
Body Mass Index

3. =9 &Y H9E FT 19

(3F) =TT AT 2 () faemT /91 2 (7) T E (F) T E
The name of the Parliament of Russia is :

(a) Lok Sabha (b) Vidhan Sabha (c) Duma (d) Czar

4. “TAAT HITAATTEES Tohd TSN T Aqcd [ohe AT 2AT?
(31) I (F) Beae () 3T (F) FgreAT et

Who had led the ‘National Socialist Workers Party’?

(a) Mussolini (b) Hitler (¢) Hana (d) Mahatma Gandhi

(5) FAsHTHT0T T Teraa aaTH | Fwferfea & & #i9 agra® 82
(1) FHAT FTATRART () ASTGL (F) ALHE (T) T ATA
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Which of the following is helpful in making globalization strong?
(a) Information Technology (b) Workers (c) Government (d) Goods
(Tue-v) =T g =T (1x5=5)
gug (F) - GUS (9)
(1) STTa ST - (37) QI HASTIT
(2) LT - () .U, a9
(3) e ST & - (7) si|a oy
(4) AT qF - (I) AT UAHATH FAT orfes it wm9=m
(5) THAITES - () 1950
(Part — B) Match the following :
Part — A — Part (B)
(1)  Life expectancy — (a) Physical weakness
(i1)  Constitution — (b) J.L. Baird
(111) In Korba district — (c) Average age
(iv) Invisible hunger — (d) Establishment of Bharat Aluminium Company
Limited
(v)  Television — (e) 1950
(TU=-a) Rk T 6l I i (1x5=5)
(Part-C) Fill in the blanks:
(1) AT H oo, T HAGTT T ATIHL 2

In India has right to vote.

(2) Tz e o Faysm df@eam= H ... L GRER

Hindu Code Bill was first time presented in the Constitution by .
(3) T.3.TH. ASHET F v d I TRATT F TAF TG oo, T I

CIDIERSEKECREIIRIRS IR %l

Under P.D.S. programme every month the eligible family gets food at
______ rate.

() R H LRI il AT SF-34 T [HaC0r grav gl

The details of the Government’s annual income and expenditure are in

(5) ATIA H AThA hl TATAAT o TTT FATT FIA T H ..o FLaT gl

In India, elections are conducted by the to establish democracy.

fA3er: () T FHTER 2 | 6 T ATTAL3TLNT T 2| ThH TF UL 2 3 aied gl
(3T i Aferhaw erse-HHT 30 953 T)

Institution : (B) Question Nos. 2 to 6 are very short answer type questions. Each
question carries 2 marks. (Maximum word limit of answer is 30 words)

7.2 TSTEHRT FT 872 (2)

What is Andosalfan?
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9.3 Sl | UTgahi & a8 Toha-fohe @rat & ST 8 82 (1+1=2)

What are the different bank accounts in which people deposit money?

T.4 &7 dTicas @iesii & 919 foraul (1+1=2)

Write the name of two metallic minerals.

.5 AT T ST FATa Y 7 svax eyl (1+1=2)

Write the differences between import tax and export tax.

9.6 ot T o a1 <901 o 7T a2 (2)

In between which two countries the Cold War was held?

fAer: (F) w1 % 7 ¥ 10 TF Aqorg3aiidT T gl TAF T U< 3 3 aqafed
2| (3T AT ATIRad rsz-H AT 50 9753 8)

Instruction : (C) Question Nos. 7 to 10 are very short answer type questions. Each
question carries 3 marks. (Maximum word limit of answer is 50 words)

.7 STRTOET § -5 & s T gid &2 (1+1+1=3)

What are the figures obtained from census?

7.8 UH F97T FTLUT &1 T & 1o 70 % T 6 1& ATl o IATaT § aeil & Jhg
I &7 (3)

What may be causes by which there is rapid increase in the production of food
crops after the 70" century? http://www.cgboardonline.com

9.9 ST # enfed & o {7 arsfishaor sfiare 1 I gamr? (3)

Why did the Peace Movement for disarmament begin in Japan?

T.10 ““TH FILAT § AATATIT FHATHAT %0l HIR HLAT gl”” TTE AT (3)
“Flexibility in labour policies helps companies.” Clarify.

fAger: (3) T 7 11 | 14 T TLSTUT TF gl TAF TF § Aqih faamed gl
TAF TT UL 4 3 Arafed gl (I T Afershaw ereg-HaT 75 9158 g)

Instruction : (D) Question Nos. 11 to 14 are short answer type questions. Each
question has internal option. Each question carries 4 marks. (Maximum word limit
of answer is 75 words)

T.11 USITE Avaldd UF SHH AGrad § Hia-Hhid H GHEA0 82 99 BT
e (4)

What are the similarities between Punjab Movement and Assam Movement? Write
your opinion.

AT4T /OR

ferg Fie T Al aar af 47 grar? aasA= 0|

If Hindu Code Bill would have not been made, what would have happened?
Explain.

T.12 TEAT H AT % Ihd o 1L AT ToIr@ul (1+1+1+1=4)

Write the four causes of rise of Mussolini in Italy.
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sT1aT / OR
S | T T & TITa<0 T TOIHTE 21 Tohdl 52 I 747 HaT 82

What may be the negative environmental impacts of digging? What are their
solutions?

.13 TTY | il TATIAT Fdl g ? IHeh Toheg] A GGl Al oIEul (143=4)

When was the League of Nations established? Write any three principles of League
of Nations.

4T/ OR

ITHTS TS Fd 22 3T THE 4 i &l ore)

When was the Treaty of Versailles happened? Write its three main terms.

.14 S[(H o MR % HIFA-300 & AT R 52 o0 o= o) (4)
What are the human factors of land degradation? Write your opinion.

4T/ OR

7 TG % AT FLRT il T HIoT|

Explain the four factors of the land management.

fger: (2) T wHE 15 TF 16 TESTUT TF gl TAF® T H Aeaieh [dahed gl
AT T 9T 5 3 Srafed gl (ITL il Aeehan erss-HHT 100 9752 21)

Instruction : (E) Question Nos. 15 and 16 are long answer type questions. Each
question has internal option. Each question carries 5 marks. (Maximum word limit
of answer 1s 100 words)

T.15 ITEOr rferaTe & gia=al #7 qui fforw) (F#E 909) (1+1+1+1+1=5)
Describe the rural settlement patterns. (any five)

Aq4971/ OR

LR | -0 I GHETU 3T 3l Lol 82 IS8 4o GHATS Ul

What are the problems arising due to urbanization? Explain with example.

T.16 IfT A a9 arfurisas S 92 MIa 951 @, a7 q87 U9 979
AT T T TATT T297? (5)

If Reserve Bank of India will not keep control on commercial banks, what will
effect on money and credit?

AI49T1/ OR

0T o [T o7 SIH-83TSl &<, T9F, STHET qAT Wt Arfa & Saea=har #97 g
27 HH A I GHATSU

Why some conditions like interest rate, time, guarantee and mortgage etc. are
essential for loan? Explain each condition.

fger: (F) T 7% 17 Ta 18 TE3a0T T gl T d® TF § aia faehed gl
T T U 6 37 ATEfed gl (ST AT Ay erea-HuT 150 oreg 2)
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Instruction : (F) Questions Nos. 17 and 18 are long answer type questions. Each
question has internal option. Each question carries 6 marks. (Maximum word limit
of answer is 150 words)

.17 Hied #eaw e & & U9 § T FT qHEAY Y AwY @d 8?2
(3+3=6)

What similarities and differences do you see between the communication of Print
Media and T.V.?

TI4T / OR

AT o TG ATGAT I T HorT| (FHE i)

Explain any three important means of communication.

T.18 HHT & ~AT1Ah HIH F4T g2 TH FHTH Hl IFAH ATATAT Hl T T H9a Fl
FAT T 3T 82

What is judicial work of the Parliament? Why has this work been given to the
Parliament and not to the Supreme Court? http://www.cgboardonline.com
41/ OR

Tfagm a7 7 fea gt § aen & ariierd F1 9@ F o Far-aT #24

3I31T?
What steps did the Constituent Assembly take to strengthen people’s participation
in formation of the Constitution?
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